Python Programming (4311601) - Summer 2024 Solution (Gujarati) by Milav Dabgar

ved 1(4) [3 2pel]
A4 [HIs2el cavAIfRid s?A 214 2411 ¢d s2dI1 WIdi-] R ci-1al.

Gu2:
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3. dieyeld [Sa5194 2ici[dd Gsdl Al AIReH [Asaigal

4. vivdlszel Ui€ s2dl GSA MM sdl

5. 22221 14 dfd@sel4 G5d 2123 2ld s 52 © d-l uild?] sedl

6. SisyH-22ld 1[G 2igef Hi2 GSaA 2sIS s2dl

Hu2 2ls: "¢ éxell [Ss194 viHdlsel e Ef4s”

yed 1(6l) [4 d1e1]
dRuAGId cAvAIRld s 24 dRUAGAAAI 41 UiE s2d1 HI2dI [HAHA] Gedu s2.

Gu2:
dRAGIA i HHRIHI is AIMilSd 221R% 221 © ¥ S21 dEJ25 €1 © 4 UIAIH i[S235Y2l4 £2MIH Gledief oIS ©.

dRAGId d1usel [aHi:

dau qeid

2A3i1d] vi81R UalR (a-z, A-Z) vaid] A-s:2s1R () @il 213 g iefA
HogR vaRi AR, Visl (0-9), Vi Vi-S21siR &id 215

s ARIRy myVar 244 MyVar %€l dRuicid &

sig slasa 4él Python I 2335 2lo€l diuzl 2isidi il

sigf iy 4él 2] ®ou1RA B-S22SIR IR

qeidicHs 414 elyLl 1M urie 520 (age, x ¢l)

42 gls: "viareell 213iid, alggiHlel dig, s slasy 4d]"
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yed 1(s) [7 1]
I el d6i1Hi2i] HedH vl 2liddl HIZ sdiAI2 [$3194 S2.

Gde:
SAIUIE SHIRSH AUl dIuld 2Rl 4ci2iHiad] HedH 2ligdi-l dIfSs Udied €2
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saidIS:
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Start

Input: num1, num2,

Yes No
Yes No Yes No
' b ' +
max = max = max = max =

N

Output:

End

YUl YAl
o gdy2: 5Ll 46i2i (num1, num2, num3)

o MIdlA: 4225 s[Sel d1uRlA -iciid] @l
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o AIG2y2: >LIA YR HerH YR

42 gls: "uédl ci-l ga-l, ussl sl 218"

yed 1(s uAAdI) [7 d1e1]
€IV S2d AGIR Uil3[2d © V14 5 s2dl d8IR © § 4é]' d duladl 2is AAIRYH GidIdi.

Gu2:
s 4612 UIf3[29 214 5 s2dl 4912 © § SH d USIAAI HI2q A@IIRem,

iliRau:

Algorithm: CheckPositiveGreaterThan5
Step 1: START
Step 2: INPUT number
Step 3: IF number > 0 AND number > 5 THEN
PRINT "Number is positive and greater than 5"
ELSE
PRINT "Number does not meet criteria"
END IF
Step 4: END

saidIS:
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Start

Input: number

number > 0 AND number >
57

Yes
Print: Number is positive Print: Number does not
and greater than 5 meet criteria
End

Yy 2lRdi:

e Vil32g: number >0
e 5 s2dI d¢l12; number > 5
o RiYsd: Gid 212di 212l sld] B

Hu2l 2ls: "Ry wWwa viy"
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yed 2(4) [3 2]

\NC N AY

ViRR2ARs U2l U 2li2 di2 dvil.

Gde:

ViRepi2s luze2l Python wialfFaHi »HRs deyds u dnifEilds 21eidlAl s

RANRSs AHIu22i 261d:

/1

%

*%

41y Gelsrel
GHzILI 5+3
Gl1€611S] 5-3
SIEEIE 5*%3
SIEIETE 5/3
sdi2 [3(c34 5//3
Hisydd 5%3
gid 5*%*%3

42l Zls: "GHRl Gile s21 2[RI @191l SEIR HIS UIgR"

yed 2(Gl) [4 d1ei]

S[2=) v ais 222w2-l ¥3lRAUId yuwdi.

GdR:

AN

2 8.

(23 i s 222ri2 siiaM WiAIHa1 HI2 gu Ai(So3s3eld sAid [H2ifbid s2 ©.

22242 sHilRasA:
w242
break

continue

quRiel-i Gelseli:

[0Yd

4

guuiell 2iyel cierR Hlsng

ddHi- 2Hig[d eisd]

e break: 212d Y2l a1y IR cielR Hlsg (VissA Y& 2Nied)

e continue: 2115 21 ®isdl (U324 [Gevi 40124 H46i2)

SIAEIAIL:

o sRigHdI: (6432 Hig[d 21nd]
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.

o [[FRidrer: Yium said ag A1 A2
o UwdI: dgj 2R SIS dis

32l gls: "ds cleiR Hlsa, 23y vIs"

yed 2(s) [7 d1el]
EIVid S2d AuAl A4 O 5 [GYH & d duludl HIZ2 2AS MIAIH Gi-Id].

GuiR:
HISYER AHIUR22 dIURlH 4612 21H 5 [Auy & d [eilRd s2dl Hi2+1 Python WiuM.

Python sis:

# A4 S [Auy duikal 124l YiaM
number = int(input("¥iS -6l €vd SJA: "))

if number % 2 ==
print (£" {number} JdH @")
else:
print (f" {number} (civy é")

dif¥s auudl:

21Rd uRenx A4l
number % 2 == Y 2 93 [Aetisy, sig alis] 4él
number % 2 == G 2 93 [deiisd ¢l alisl 1

Awd 1Gaye:

o gdy2: 8 — IGay2: "8 M &"

o gdy2: 7 — viGaye: "7 [y &"

02l Zls: "Hisya ol 1M, vis [Guy"

e 2(H 24dl) [3 d)ei]
Python I s®iR2354 dH1u22i4i A1Ri2l A1l.

Gu2:
SHI[R254 U221 A3l a1 52 & i of[Ga- uReimi (True/False) A1 ©.

sWI[R354 AIU2R 26id:
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AIU22 A

== GIRIGIR

1= 6121642 2]

> Hig

< i

>= Hi2 A GRIGHR
<= Al A4l GiRI6HR

Gelsel
5==
51=3
5>3

5<3

Rad 2190u: cieil viiuR2?l off@a deyys (True/False) 241N &

02 2ls: "6121612 ¢l HI2 AIq HIZ-GIR1GHR I4-GIRIGHR"

e 2(Gl 24dl) [4 dei]
While gu u2 s Hig duil.

GdR:

While gu i ¢l 2ld 2112l 28 © Ui Yl sis adisd diRdIR vilS35Y2 52 ©.

While qu 2zsz:
€2s aeld
vidfeisel gu uddi viRfeis Y A2 s2q
21d dulidl 4124 6j[da- viseivield
Giis] d1Rd1R Vi[S255Y2 s2dI-I SIS
Jus2 U4d gy 21ndl Hi2 dR¥cid Gedd
Risa:

while condition:
# loop body
# update statement

daieli:

o l-222s: Vi[S235Y2I- Uddi 21d duIAIY &

o dRicid g fdi: vimell 2vaHi Ydridd

o [ARixer 21Rd dIg 21vig Ass] 52 ©

Hu2 gls: "wuIR 2lkd 1], gu Addl”
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Med 2(s AddI) [7 dfe1]
Yos2 vIRiail Ael 46121 diudl 214 d 1214l 222121 2laal 412 AAs WA GidIdi.

Gu2:
Ys2-g4Y2 2RI 461211 2122121 21141 HI2H]I Python WM.

Python sis:

# 2Rl iRl 2212l 2plgdl HI2HI YiAM

float (input ("Uddl -6l €lvd s2A: "))
num2 = float (input ("Gil¥l 62 €vid s2A: "))
num3 = float(input ("% 62 €vd sA: "))

numl

average = (numl + num2 + num3) / 3

print(f"{numl}, {num2}, {num3} 4l d32i21: {average:.2f} 8\9")

Jleid] ulsar:

uaig 2Aiu2ld

gy Sl 46121 gl

CELTI AR 4641 GH2I
CIPIISIR A4l + 3

HiGaye2 sive s3d ulReim gaiidl

A dilsssyel:
e g4y2: 10, 20, 30
e q1i: 60

e y32121:20.00

H4u2l 2ls: "l GHR1 iiall e21idl”

yed 3() [3 dyel]
s2id 225U QAIRId s2, Yidi4Hi Gudce S2id 22sui-] [ ciidl.

Gu2:
S21d 225U WIAIMHHI A(S35YRI4 SAT A4 222821 sH [Q4iRd 52 ©.

Python 52id 22suai:
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UskR sy

Risdl2ua HIHI= sd

(Aidseld if, if-else, elif

P22 for, while

‘WY break, continue, pass
5201R]%:

o sfSeidd: [Huiy dal (if 222v2a)
o gfUd1: yRu1udH (for/while gu)
e giifRidI: sdi s2id (break/continue)

H442l 2ls: "[Risd- [[ids2 AHigee "

yed 3(6l) [4 del]

¢q

2eeH2 sHHI vi[S2353Y2 SR
[Gseul g2l yaiedi]

SIS GaiS Y-21dd-

A1 SA Heddl

Y32 [Sg1g-s 5214 cAvIfRid s 214 54 2d Yas2 [Sg19-5 §s214 sid s2q d Gelcel ANl 44Mdl.

GdR:

Ys2-[S518-5 §501 UIsSA SIAI 2l Y: GUiai] SisAI seeH cdis ©.

§52ld SA:
€2s Ri2sy
s(gldeld def function_name():
vandlaal def func(param?1, param2):
Giisl g-5-3S SIS 6dis
Rad return value
sid function_name()

Gelsrel sis:

# $seld Slsldel4
def greet user(name):
message = f"-l‘-lafl\, {name}!"

return message

# $seld sld
result = greet user("Python")
print(result) # MI@ZgZ: -1‘-I%c|\, Python!
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q4u2l 2ls: "(Ssig4 UrHleal alis] Red sid"

yed 3(s) [7 oyel]
qu siiedi Guaidl sl 1] U gariaal H12 vis Wi2AIH Gi-Id]

GuiR:
422s gt d1uzlA 612 Ue- 6i41gdl Hiz+l Python Wi,

Python sis:

# Uad [Ml=2a1 vium
for i in range(l, 6):
for j in range(l, i + 1):
print(i, end="")
print() # €5 ulsd ugl 4dl digH

v dif%¥s:

\ifsd Aigfdi ¥IGay2

1 1 dud 1

2 2 9uid 22

3 3 dud 333

4 4 dud 4444

5 5 dud 55555
qu @sU:

o GIE qU: Ulsdiid [F2i5id 52 © (1 2] 5)
o UidRs qu: dcHi- vilsd Aotz fie 52 &

o v ufsd -ici2 ufsd guid yH=idldd

442l Zls: "cligl dlsdil AHidfRs YArudd-"

yed 3(4 wAadl) [3 djel]
Uiy Gelsreldl Guidl s34 A22s qu aixwmdl.

GuiR:
422s gu A ofll qu-l vieR AHIdd gu © Ui €25 Gligl gu AHIgfd HI2 AidRs gu d-] iell AH1g[dA] Yol s2 .

422S qu SUR:
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€2s gelid

Gllgl qu YU AIg[dAlA [FBid s2 &

AidRs qu £25 G116l AH1d[d HIZ iyl AS35Y2 211 &
A(Sas5Y214 AidRs gu sd nxm guid A1d &

Gelsrel sis:

# ARs qu Gelswl - 2LlisiR sies

for i in range(l, 4): # Glg gu
for j in range(l, 4): # idlRs qu
print (£"{i}x{j}={i*j}", end=" ")

print() # Adl dig4
\ <
AH1G2Y2 v2:

1x1=1 1x2=2 1x3=3
2x1=2 2x2=4 2x3=6
3x1=3 3x2=6 3x3=9

Hu2l gls: "qu ie2 gu"

e 3(61 yHadl) [4 d1e1]

AY \e

AdRUGAAI disd 24 dHIGId 251U U 21i2 184 dul

GdR:

NN

dRAcId 2siu [R4iRd 52 & § WiAMHI dRUGI sAi visAA s2 2SIy 9.

2siU sWi[3234:

2SIY USIR vl
disd $s2l4] e
sdicid ssell GlelR

Gelsrel sis:

Jisid
SSd $S2lId

iyl Wi
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global_var = "¢ odicid ©" # odicid 2sly

def my function():
local_var = "¢ disd &" # disd 2slu
global global_var
print(global var) # visdldcid
print(local_var) # visdl[Acd

print(global_var) # visA[{cd

# print(local var) # ¥R - visldcid el
Y Ye Al

e disd: $sei4-2[(ss dRuicicy

o ddicid: WiAMH-] dRuicic

o YiSAY: $S2U-Hi disd 2dicidd AHIdR2ULS S &

J4u2 2ls: "disd Hailed, odicid AMI="

e 3(s AAdl) [7 dfe1]
UINd vl §siRAd 21igal HI2 Y32 [Ss19-5 §seld [dsAidl.

GdR:
Uil3M2a yelisdi $s2ilRadd] 21e1dil s2ai wizd Rslda ssei.

Python sis:

def factorial(n):
Wy i $s2iRad ng"""

if n == 0 or n == 1:
return 1
else:
return n * factorial(n - 1)

# §Sel4d 222 s
number = int(input("¥S -6k €vd SA: "))
if number < 0:
print ("4i2d Hoi2l HI2 $seiRad uwifRid Heil")
else:
result = factorial (number)
print (f"{number} - $s2iRud {result} ©")

\ \

$seiRad dil%s:
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gy sleiadl ulReny
0 Gi23 52 1

1 Gi23 5 1

5 5x4x3x2x1 120

§s2ld daeli:
e Rsldd: $s2i4 Uidid sTd S2 &
e G2 5: n=0 a4l N=1 U2 Rs2i4 A5 &
o df@seld: 40129 gyeai &-5d 52 ©

42 gls: "cigl vimdl AciRiH delisiR"

yed 4() [3 d1el]
2 Hiseyd [Alde §seid 12 quwdi

Gu2:
H2l HISA —YHRsd siry2el- Hi2 211fEifds §se1- i sl2-2 Ueld S2 ©.

Hal HIsRJd §sel-d:

§seld éq Gelsel

math.sqrt() SR math.sqrt(16) = 4.0

math.pow() gid 21 ld?] math.pow(2, 3) = 8.0

math.ceil() (EPEIEI[EES math.ceil(4.3) =5

math.floor() 12 21Gs math.floor(4.7) = 4

math.factorial() sseilRad math.factorial(5) = 120
CIETETE

import math
result = math.sqrt(25) # 5.0 Red s2 &

J4u2 2ls: "gof gid (@1 sdiR ss2ilRud”

yed 4(6l) [4 del]

141 (G221 §s2I44] Al s2i: i. len() ii. sum() iii. sort() iv. index()
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GdR:
Sel vldwydel- 44 [deduel Hie-l AHldeds (e ssel-.

(G2 §s2l- sHilRsA:

§seld &g Rad 2190u Gelsel

len() vilaH-22 d1elal Integer len([1,2,3]) =3
sum() Glgl 46111 24410 Number sum([1,2,3]) =6
sort() SHHi 2llsd] None ([d22 cied ©) list.sort()

index() vilar-2-] (Reifd enad] Integer [1,2,3].index(2) = 1

avzi2il i
e len(): siguel [Jsd- A1 SIH S2 ©
e sum(): ssd YHRs (A2
* sort(): 4o (@2 cied ©

NS

e index(): YoM BHis Red 52 &

Ju2 2ls: "d-a A4 ie g-Ssy”

ved 4(s) [7 Je]

0 2/l N <iciRid] [§6ii-Is] gieild s1ual 412 Y232 [Sg18-5 §s214 GiIdl. (3T N yeIis vl & 24 PN a5 uAR
A1y )

GdR:
N 2wi yeil [5o1i-1S] [Risd S22 w14 [Sd sal Wiz $sei.

Python sis:

def fibonacci_series(n):
"rrn 2nidl (Soliis] giell M2 segnrt
if n <= 0:
print("sul s34 UiBRY oz evid s2A")

return

# Yoy o owi
a, b=20,1

if n ==
print (£"[sciiIs] gell: {a}")
return
print (£"(scii41s] gieil: {a}, {b}", end="")

# GlISlHI 2w w22 sl
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for i in range(2, n):
c=a+b
print(f", {c}", end="")
a, b = b, c

print() # Adl dig4

# §Sel4d 222 s

num = int(input("2widl dvAl €vd S:A: "))

fibonacci_series(num)

(Scii1s] dil%s:

2H Y& deidil
4] 0 e
2% 1 uHIud
3% 1 0+1
4e]] 2 1+1
54] 3 1+2

\

43 2ls: "uiedl & HeiRidi GHRI"

yed 4(4 wAadl) [3 d1e1]
2-sH Hisyd [dfdg §se14 A1 HMdl

Gu2:
2-5H HISYd [dfde ARESI HI2 3SH -GIR] 122 52 © Vi 2-5H [Ridsel 52 ©.

2-sH Hisjld &5l

§seld éq Gelsel

random() 0.0 2l 1.0 sdie random.random()

randint() 24 gl random.randint(1, 10)

choice() 2-5Y [dee 2ildy-2 random.choice([1,2,3])

shuffle() [Geedi sH AN s24] random.shuffle(list)

uniform() 24 sdi2 random.uniform(1.0, 5.0)
quziel:
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import random

number = random.randint(l, 100)

vifdseli: oixy, [Rydel, 2221, [sweiuisg]

HHZ gls: "2-sH 2 AP s Y[HgiH"

e 4(Gi 24dl) [4 dei]

AN (@2 [ 21ed & 5 4¢]'d duIdl HI2 1A Sis G-1d]
GuiR:
HGi2(2Iu 1UR2R diuld [dreHi AAlAH-2 AHRdcaMi © § SH d Asiudl Hi24l Python WM.

Python sis:

# [devi ifad-=2 Wiy duiig
def check membership():
# Awd [dee
numbers = [10, 20, 30, 40, 50]

# 2ligdl Hi2q vildd= Hoag
element = int(input("eligdl 412 A[AH= ewd s2i: "))

# WoiRleiv duiyd]
if element in numbers:

print (f"{element} [Ge2ui ¢Ix2 ©")

print (f" Raild: {numbers.index(element)}")
else:

print (f"{element} [GeeHi xR -eil")

# §SeI1 sld s29

check_membership()

Hici2Riv Hasa:

Jas Ri2s Radss®
in VHu22 element in list Boolean
not in ¥Hiu22 element not in list Boolean
count() Has list.count(element) Integer

Hudl gls: "ldeeMi g sl
Y- 4(5 U'IQICII) [7 QJEI]
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EIVId S 2AGEHINI 216l Ga2ld d HI2 Y32 [SgIg-s §seld [dsidi

Gu2:
2loe-] [Raifd mndld [R2a1Mi €25 216e4 Gazlad] Hi2- ss2l-.

Python sis:

def reverse string words(text):
"nr (oM €35 eloed Gadalggt
# [2o14 216eiMi [dei[R¥d sadl
words = text.split()

# €35 2l6ed Gdaldq
reversed words = []
for word in words:
reversed word = word[::-1] # Gd2lddl HI2 dIgY Hiz22ld

reversed_words.append(reversed_word)

# 2I1GEI Ul isdl

result = ".join(reversed words)

return result

# §S2l44 222 S

input string = input("is (3 €vd s2A: ")
output = reverse_string words(input_ string)
print (£"g4Ye: \"{input_string}\"")

print (£"#1G2Yy2: \"{output}\"")

# A g4y2 A1d GelsRel

test_input = "Hello IT"

test_output = reverse_string words(test_input)

print (£"g4Yy2: \"{test_input}\"")

print (£"#1G2Yy2: \"{test output}\"") # VIG2y2: "olleH TI"

yidy 2_W:

RY SPEETR GelsRel

1 2loeMi [detIfX¥d 529 ["Hello", "IT"]
2 £2s 2I6€ GA2l9d] ["olleH", "TI"]
3 20 12 %isq "olleH TI"

\

J4u2 2ls: "[Aeii[d Gaaldl sl

yed 5(H) [3 djel]

A [RRo14] uglddAl a4adl: i. county() ii. strip() iii. replace()
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Gde:

2522 WiARI21 A4 HlAwjdel- Hi2HI vHIdeas (321 Hais,

[R221 Hasy suifRasA:

AY

Has éq

count() His dleld]

strip() cslgeaiy s2l9d|

replace() G121 Gledd]
Rad deys:

[Bi2sa
str.count(substring)
str.strip()

str.replace(old, new)

e count(): g[=x2 (HAis-A] 2u)

e strip(): -dl (@221 (csigeatixy ¢21dd)

e replace(): -dl [@321 (cidld 524)

H4u2l 2ls: "orel [Rpu ciedl”

yed 5(cl) [4 d1el]

[R2a1Hi 5dl 2d 21g2id s2q d Gelerel ANl 2AxMal.

GdR:

[R221 2ladfd HiFs RaMi €25 525224 sMs 2d visaa s,

2laid dasd:

\

das
g-SSA-Gid3S
SIRIRS2 AIg22l
A-YH2

Gelsrel sis:

[A2sa
foriin range(len(str))
for char in string

for i, char in enumerate(str)

No. 19/ 23

Gelsrel
"hello".count("l") = 2
" text ".strip() = "text"

"hi".replace("i", "ello") = "hello"

Guiol
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text = "Python"

# HYS 1: SIS AIg222ld
for char in text:

print(char, end=" ") # P y t h on

# HaS 2: g-SSU-GI%S
for i in range(len(text)):
print(£"{i}: {text[i]}")

# Was 3: Yo
for index, character in enumerate(text):
print(f"@aﬁ {index}: {character}")

42 gls: "siuRs2 PSS vigHRR"

yed 5(s) [7 ]
A1l 2Ad (G241 BHIu2i4 HI241 HiA1H [dsaidi:

Gde:
AHI92s [ U2l A [dedyrl Hizdl 6l Wiy,

WA 1: G- GHRdcd dulaig

def check element exists(lst, element):
"rrfdeMi vildue ARdadi © § S dulkgr
if element in 1lst:
return True, lst.index(element)
else:

return False, -1

# WM 1 22 sq
numbers = [10, 25, 30, 45, 50]
search_item = int(input("eligdl HI2 dil[AH=2 evd s2i: "))

exists, position = check element exists(numbers, search item)

if exists:
print(f"{search_item} [22i(d {position} U2 ng")
else:

print(£"{search item} [dreui el HuJ")

AY

WiRA1 2: izl i 214 Hig eliag

def find min max(lst):
mrraiel] A4l A4 Wi2l AlGH-2d eyl
if not 1lst: # uidl [de duidl

return None, None
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smallest = min(lst)
largest = max(lst)

return smallest, largest

# WAM 2 22 5
numbers = [15, 8, 23, 4, 16, 42]
min_val, max_val = find min max(numbers)
print(f"faee: {numbers}")
print (£"lel 4i4: {min_val}")
print(£"alel Hig: {max_val}")
Yy vl
e WGIRIRI: 'in' VY22 dIvRd]
e Min/Max: [Gicz-g ss2l-

o dfl@seid: vidl [de &-sldo

42l gls: "eligl Hodl gai s21"

yed 5(4 1ad1) [3 del]
[Geed 2cg(21 Gercel 12 A4l

GdR:
(G2 2dIg[[d1 55 2% AUl [l UIssA 11911 SIS ©.

219191 R2sA:

giv2 qeld
list[start:end] start il end-1 el vilaH-22
list[:end] 213u11d2ll end-1 ¥¢il
list[start:] start 2l ¥id ygil
list[::step] £2s step i@

Gelsrelr:

numbers = [0, 1, 2, 3, 4, 5]

print(numbers[1l:41]) # [1, 2, 3]
print (numbers[:31]) # [0, 1, 2]
print (numbers[3:]) # [3, 4, 5]
print (numbers[::21]) # [0, 2, 4]

Hu2l 2ls: "213AId Hd 22"
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Gelsel
[1,2,3,41[1:3]1 = [2,3]
[1,2,3,4][:2] = [1,2]
[1,2,3,41[2:] = [3,4]

[1,2,34][::2] = [1,3]
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yed 5(ci 12ud) [4 2]
[Geeui 5d 21d 21a2id s2q d Gelczel ANl H4Adl.

GdR:
[Gee 2lgdidni [Geeui €35 AlAH-24 dlad 2d Hisad sl HHId2l A1y ©.

2ludd 2slAs:

das Ri2s

d@] vilgerel for item in list

gSsd g3l for i in range(len(list))
vH2 for i, item in enumerate(list)

Gelsrel sis:

fruits = ["A§®H", "$91", "HIR2Ml"]

# Hes 1: SIS d&) dis
print("ssd deys:")
for fruit in fruits:

print (fruit)

# HYS 2: P-SSU-GI%S s
print ("\ng-Ssa Al2:")
for i in range(len(fruits)):
print (£"9g-Ssy {i}: {fruits[i]}")

# Wals 3: Y2

print ("\ndi=yH2 diuld:")

for index, fruit in enumerate(fruits):

print (£"{index} -> {fruit}")

GuidIAI S

o gsd A&y i€l Wil

o g-Ss BisAA: Uil3el-2141Rd 2HIuel-A

o UIRYHR2: Y-S5 Vi AR Gid %33

4yl gls: "d) g-Ss Gid"

Y 5(s AHAadl) [7 alPJ]
1 201 50 ] sieili WigH w44 did-H1g4 d6iRid [@e cidi1ddl HI2 UIAi4 sis [dsa1dl.

GuR:
461214 UIgH A I4-u1gM (G222 adilsd sdl Hi24l Python YiAM.
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Python sis:

def is prime(n):
"t UIgH © 5 SH d duiig"t"
if n < 2:
return False
for i in range(2, int(n**0.5) + 1):
if n & i ==
return False

return True

def categorize numbers(start, end):
"I A AId-WIgY [6iRi] [dee oidigd]t
prime numbers = []

non_prime numbers = []

for num in range(start, end + 1):
if is_ prime(num):
prime numbers.append (num)
else:

non_prime numbers.append(num)
return prime numbers, non_ prime numbers

# 1 2l 50 12 [deey -2 sedl

primes, non primes = categorize numbers(l, 50)

print ("WYY 46kl (1-50):")
print(primes)
print(£"\ngd YHigH d6iei: {len(primes)}")

print ("\ndi4-MIg4 62l (1-50):")

print(non_primes)
print(£"\n§d di4-MIgH 6iRl: {len(non_primes)}")

vIgH dilgs:

4Gl USIR 21Rd
vIgH $Sd 1 344 UidI4l 93 ¥ 1911
Al4-Y1g4 A HIFS| &

ARIRUH 2W;

o clIvAdI duldl 2 2il yn el
o doilsel YigH 2221 AHgIR

o QIR YPY [AauMi

442l Zls: "auiail el 9oflsd sl 22l sl
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